
���������� 	
������������� ��	 
����
�� �� ���� ����

���������� ����� �� 	�
��


�
�� �
� ��������
����
��
�
������
� �
 �����
�� ���� �
�
�� ��

� 	
���

 �� ���
!�
���∀� #�������� �
� ��
��
� ������� ���
!��
 ������� �∃�
 !
�� ���% ��
 ��� ������


&���
������∋����� ����
�


!∃

�
�
()� #�������� ��� �� ���� 	�

!�∗�

% ��
 ��
 &�+
���

����
�

 ����� ��
 ∀�
���)
��
�����
 �����
�
 �
�% �
��
�

�

��
�
��
���
�)�����
 ,
�∗��
�
 �
 ��� −������� 
�
	��
�
	�
�

% �)� ��
 ��� &���
�����
�� ����
 �
������
�

 �
�
���
��
���� .
��
 ��
 &���
������
∋��������

 �� /
�����
��
�

0
����!�� ��% �
� 0�
 
�

�
#��∀���	��∃+
 0�
 ��
� 122
3�������
�
� �)� 4
�
� �
�
� �� 	��
�∃���

 ,
�∗��

���	��
�

% �∗��

� �� � ��

−���	��∃+
 �
� &���
�����
�
��
� � �� ��
% �
� �
 	

����
�

 ��
�� ���
�

 �

∃����
�)��

�
5���
� �∗
�� ��0�
 ��% �
�
�

�
��

�

 	� �
��



6% ����

#��������� ,
��
�
 ��
�% �����
�

 ��
 
∗ ���

 7 �����
�
/� �� 
�� �����
��
� �
�


�
�����% 5�� � ,
����
�
� ��
�
����!���

6% ��
 #)��
��
�
���
� 8��0
� 7 ���� �
���
��
���
��
�� ������� ���
!��
 ����

���� �∃ !
�� 	
���
 �
��
�
�
� (�∗ �

∀���� ���% �� �� �

�

 �
����!�� ��
� �
� &�+�

���
 �
 �����
�� �� �
��


0
����!�� �

 ����
� 7�
 ����
�

�
��
�
 7��
����
 ��� �
�
��
���
 
�

 −������∗������
 0��%
��
 �� � ��� &���
������∋��
�����−��4
!� �
 �����
�� ��
�
��

 0
����!�� �

 ����
�
���)�
�% �� � ���� ��
 0��%
!∃


 �� � �
 7������� �


�
�∀�� �

 �
��

�
∋�� ��� ����� ����
 #)��

�
��
���
� 8��0
� 7 ����9
5.�� ���

 ,��
� 0���6 �� ����
�
��
 ��
 ∋��∃�
� ��	� ���%
��
 �
������
� ���
� 	�
�
�
���)�	

�

�������	
����
 	�����

������

�� �
� �������
������
����������  ����� !������������ ����∀��

#�� �
∃�� ��� %�&
������ ∋������ (�����)� ��� ∃�
�� ������� 
�
��� ∗+�� &����,− .
�/�
���&�����
#��+�� �
&&� !���
�� 01∀���� 0
&/� ∋����
���� 2���+�������� % 
&� 3
&���� 2&�+�� #∀���� ��� .���4
�)&��� +�� 5
���
��
��� 
���− .
����

6�� �
���
�� �78� 
�� ∋����
���) )������ �
� 9����
��� ���
����� (��)&��� �� ��� :
���
�
��∀�
)� 4� /)&���� ��� ���
�����
� �� %����������� 4�

�∀� �&���� ∋�� ����&�∀��� 3���
��� +��∃�
∀���� ��� ∋������)��
4 �� ��&�∃������∀�� ;
�� ��
!���∃��∀�� #��)�&� ��� �� 2∃���

�����
�� #�
��)�������� ��

!���∃��∀� ��� �� 2∃��
�����
�
� ∃���� +��& 3������ ������
<�������)� ��� =��/)&����� ��
5���
�∀� ∃&��∃�� �� /�����+��
%���������� 
���− ∋��4��

	���
��
�� �������� 
���� ���� ���������

��
�������������

�� ������������
�����������	���
��
� ��

7����!�∀
��
 #�
����� 0
��
�
�����
� �� ������

 7������%
:� ;�
�% ��� 
���
 <�
��0
��
��
���&���!�����
�
������

�
� �)� &���!0
�
�

 ��� �
�
7∀����
�∗
�
 �
 #�
������ ���
���
�
� �� �

 ;��
��#���
�
.�
�
�∀�!�� �
��

� �� =>
?��� ()� 7∀
��

 �
� ,
��∗
�
!
 ��� �
������ ��
 ����!����
� �
 ?
�
������
� 
������
��� � ��
 #�
�����
� /� ��
�� ���#�
� 5�
∀∀ ≅ ��
 
 ��
�
 −��!� −��
�6� ()� ��
 (�
�
�
� &�

� ����

 ��
�
� ��

)�
��� ��
 ∋�� ���
�����)


−���	% �� ��� ���
�
� 	� 0
��
����

�

��� 8�� >�∃�����
� ����� =���
���4����� 3�&)�
�� #∀�������
������� ��� ?���+����������
3��&������� �
∀� ��� #����
��/)
�� ������ 5����� 
�� �
∀�

��� %���� ���� �� ��� ��������
(�))��������� ����� ≅��4 ���
0
���/��&��  ������ 6�� (∃�
�∀�&��� ����
&����� ��� (���+��
��� ?���� ��� 5����� ������

.����� ��∃�� ���
��&�∀���
6
�∃�������� )�&��� ��� ��Α�
����
���� ��� >�∃�����
���
���
�79� ��� >��∀������ ��� >��
��∀���� ������ ����� 
���− ���+
�

 �������������� ����� 
�� 
�� !�����∀��
��

=�� �
���� :������

#�����
������������
 −����∀∀�
&����∗���Α��
�7�����
� 0
��
���� �
 ��
�
� ;��� ΒΧ 7��∀

�
��

 �
 7���

�

 �
� Α� ��
� ���
 ���������7������
�


�
� 4�
�
 �
��
% ��
 �
 �
�
�
�

 Α� �� ���

 �����
�

%
��
� ��� �
� ∋���
�
���!�
��
�����

� �
 ���

 ΒΧ (∗��


� ��
+� ��
 7�����
� ΒΧ2 ����
∀�� &�
�� 	�� (�
�
	�
��
�

�

� �����
���
�
��
�� 	��
;
 
� � �
�% �� �
� 7����

�
���

����� 0�
�% �)
� ��
�
�
 �� &�
��
 ���
��% �
��


	��� �

 ∆Β2 �
� =ΧΕ2 ����
∀�� 7���

� 0
��
�

� �������
�
�	�
� ���)� ��
� ���
 /��


≅ ���
 7��∀

����

 !∃






�


 /��

��� �� �
��� 0���
�
��

% �
� Β%2 ��
� �
��
� ����
��
 ΒΧ 7��∀

����

 ��
�

�
�
�
 −���� � �
� 7�∀��

Α
 ��
�
� ��� 7��������% #
���
;�
��

 ��� #�� #�Φ
����

%
(����
 −� !% #���
�

% 7�
��


<�∀∀% &����
 #��
 �
� ���
��
 ����
 �� ��� ��������%
&� ��
� #���
��
 ! ��� 7∀���
 ��
�

% ;� �

 <����� ���
#������
�

% (�����
 #
	%
7�



�)��% Γ�����
 (���!��
��� Α
 ��
�

% ���� .���
�
�
� ����� Α����
� ��� 7 ���
�
����% �
� #��	��

 ��� ;
�
�

����

% #
���� 
 8��
� ���
7 �∃��
��% ���

 ;�
� ���
��
��
��% <������
� .��

�
��� 8��
���
��% (����
 7� !�
��

 ��� 8��

�∃�

% ����

Α��	 ��� ������
��� �% ������
�

 &����
 ��� 8�
�
�
��%
;� �

 &)��
� ��� ���
��
%
(�����
 ,
�
� ��� �
	��!��


�
� ,��� .�� �
� ��� Γ��
�����
7�
�

 �����
�

 �
 .��
��

��
���� ,)
��
��&����
 −����
�∀�� � ���
� �
� �
� 7��∀

�
��

)�
����
 �� 8
���
���
�
�
� <���

 0�
 
�

� 5<����

�
�����6 ≅% 0�
� �
 �
���
�% ��
�
�
 7 ��
�

 �
� 4
 
�

� �

Γ��
�% &���Φ���% �

 ?7�%
<��
�% &
Η�!�% ��������

%
Α�
�!�
� �
� ����
�� �
�
Ι�
����
 ���
�

 Α� ��
� ����
!��� ,)
�
� �
Η
�%
8
���
���
�

� 8���0����
�
�
7�
����
� 7 ���� �
� 7�����
���
0
���
�
� �����
 7 ��
�
� �
��

���������� ��
 �� ���
����
��
���&�//��
���Α���.
���#��)���� ��&)� ∃�� #������
�)����
&���

6�� ���&�//��
���Α���.
���#��)���� ���������4� ��)�&����∀�� #�������� ∃��� (��&
����!������44��
(� ����
� �
���� ��� �� 2������������ ����� #��/������ ��������� 
���− :������

���∃%�&��&

	#%�&��&

=�� ��&�
 :&�∃��4

	�������� #� 
��∋������
��
� ��� �� 	������� ��� (���
)��∗ ������
�� �����������
�����(���� +	%��∀� 	%���,
���)� �� ��
 ����� ��
 
��
#����� +∃������� 	�������,
��
��������

5��

 ����
�
 7���� ��� 
�


�� ����
 �������
�	�
�% ��
�� � ����	��)��

 �
� 
�


���
 �
�

�ϑ�����∗� 	� ����
�
��
�

6% ���� −
�
� #�
 ���


0�
 5#���
�

 �!��06� &�� −���
!��

% �
��!���

 �
� �
��
�
 !
�
 �� �� �
� �
�
�
 �
��
���� � ��
 �
�� Β22Ε ��� ��

&)��∀����
����! �
 �
� 7����
����
�!���� ��
�
 #)��
� �∗��
�

 �� � �
 �

 �
�	�

 ;���


�
�
��� �
 �
� �!���
 57���
�
�
� #���
�

6 �
�
����� �
�
&)�� 
�
�
����
��� ?� ��
�

� � �
��
� �)� 
�

 ����
�

7���� �
��

 	� !∃



 �
�

� ��� 
� �� 
��� �� �
�� !���
�

 	� ����

% ���� �
� &)��
��
�
� 
�
�
����
�� �
��


����% ��� 4
�	� 5#���	
 #��
!6
�
�
��
��� ��� �
�+
% &���
!��� �

 �
�� �� �� �
� .��
 �



�
 �
��
������
�


��
 8∀

�����<�
	
��
% &
��
�

% �

 .� �

���!� ��
�
�� � 7 ���0
��
������
�



�
� �
��� ������ ��
% ���� ��

#)��
� 7���+

% 7∀�
�∀�∗�	

�
� ,�)
�
���

 ����
� ����
�

 ����

� ��
 7���� #���
�


��� ∀�����
� 	� �
� �!���

57���
�
� #���
�

6 
�




<������ ����
�
�	�% 
� � �
�
&)��0
��
�

 �
�� 0
���
�
�


� ;��� ��� !�
�


 ,
���
�����

 �
��
�
� �
��

�
8�
��)��
��
���
� Α
����
�
��
��

 �
� −
�
� #�
 ��

��

 �
��


 4
�� �% ����

� �� 7����

 �
� #
�
���
�
�

 �� ����
����
� �
� �!�
���
 ��
�

% ��
�
�
 ���� ��

#)��
� �
 ��
�
��� �
� �
�
∀�����0
� .
��
 	�� ?��

�

!

 �
�
�
�� �
��

 ����

�
7� 0
��
��� 4
�	� ��� �� �

�

&��!��� �

 5#���	
 #��
!6
��
 �
� ��
�
� �� � ,�����
�∗� �

 �
� �
�
�
 !�
�


,
� �

!
�

������� ��������
 � ��
 	�� �
� !����
Β∋
&����� 
���+Χ �
∀�� ∃�� =��
���
&������ ��� ����� ����� �
�����∀��� 
�) ��� ��&&/��∃&��
��� 
�)�����
�

#∀��∀��� Β∋5��4� ∋5
��Χ 
�) ;���− 3����∀�
)��)1������ ������ �
����� ;���
� >������ +�� ��� =�&��∃
��� <&��∀� :&���&��� .�&��� 0����
�
��� ����� ∋&�∀��
�� ��� 
�
�� ;���� +�� (��&��� ;����� 
���− :&�∃��4

#���
����� �����
�
#����������∋����
	�������� �
� �
∀��!�
 ���
��
∀���
� 
�

� �����
��
��% 
�

�
�+
� �.�Γ����
�% ��� ��
&����� � �
 �
� ∋
�� 0�

=>�Χ2 ��� =Ε�=1 ?�� �� #
�
�
� � �
� ��
����� 	�� #���
�
�
� &
��
�
�∗
�
 �
���
���
����

� �
� �
����� �
�
!)��
��
 �� � ���� −���	
�

� �� �� �

 7 ���

% �
�
��
� Β222 ���� �
��∗��% �
�
���� ��0�
� ∋
��

��
�
��


���� ��� #���
�
� �
0�
�
�
�
� �
�
��
 2>:ΧΧΚΒΛ:Λ==


��
�

�


